4714CH13

(Introduction) «%/(¥ 13.1
-< 5,970,000,000,000,000,000,000,000 kg,?%tawwdﬁ)*ﬂ[

CantYou vead his.. D 86,800.000,000,000,000,000,000,000 kg & 6L
gl 4

5970 oo(zooo,ooo,ooo,ooqoo ' ?U%J%EU:J-%"/.J Wtf(
: Vs ( ) 31 Ja311,433,500,000,000 m ko b8 G L ) sl Gur
| e ?ugéwgﬁwu!b; T4 1,439,000,000,000 mEUEsy
?‘LE’)”.’:.L‘GL/
LSty e Sren g St e el v w2
LIS E Ll G2y e ALV FAE S K e i L3 T
—e bl

(Exponents) ljc:«} 13.2
-@éﬂuﬁ‘ﬁj){éﬂw'w@%m@zﬂ
10,000=10 % 10 x 10 x 10=10* &£ ¢

'4'/5l(base)vﬂ5°/'10'UL‘{,_‘Ll?/';:w/;«/}wlvé 101010 x 10 10* (515 bs7
5100005 10° 2l 5§ 104 22542 3510510 -t 2 (exponentice 3
:é;&-ugé&i&;f& 1083 10,000@/’61ng(7_ij (exponential form) i 3

1000 = 10 10 x 10 =10’

2019-20



- I

e 10° Jﬁl/'a}p(l,ooo/i/?ul,a
1,00,000= 10 x 10 x 10 x 10 x 10 = 10° LIS
e 10° Flie 5§ 1,00,000

e sUe S 107 sle 3l AU 107 e 1004 6 U B Sl

/\’/\/ /?/;bédb“».ugL/JWié!,w’ﬁo/f)1000:10040({&52&&&?&1);!

47561 = 4 x 10000 +7 x 1000 + 5 x 100 + 6 x 10 + 1
LA A0 T X100+ 5% 102+ 6% 10+ 1 A
_if VST 3 5156150 5 637456420172
W.Lbcfup;ﬂ/;)dfﬁbfu&&lOmb Ku’é»lﬁldigfu"u)Vf(jB)/ﬂ O\ o e

103 16 RAISEDTD
THE POniER 3

W 1suRE?

Luﬁm{_gv.:,imﬂwwuv wéﬂfuﬁfd/ 81 =3 («f 81=3x3%x3%x3 \&oas :’
G E 1Y 3 A 10210 51T 210V 2 S 1007 10° g set b '}
s s fAd o8 =5x5x5=125 ¢ ¥ (s )5 fu‘ébuw&&/

+c«iu’/~”
?LL-G/WGJ}’VQ}J 5’
e Ve Fsnhuba 2 e Ayl 2SR 2 =2x2%2x2x2= 32 L K

243 =3x3x3x3x3=3 =& A5
64=2x2%x2x2x2x2=2°

625=5x5x5x5=5"

&l Stnasbt eI LW P Ve Moo Ul b3 R G 55
-<(negativeinteger) 246 EF L basemsbula gt b LT L h s
S oK (2)
(D= (D D=8 S
e
G E RSt an s s gf@/ﬁL&mm&Lg
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260 EHNISH

(rzpeilalald,) axa
C3edfdVas rzy ) axaxa
(&}u;i?g,(aycjd/auj"&”/?[) axaxaxa
a/én/é,(wiq?vJagm}Ja uf"&‘{/) axaxaxaxaxaxa
(b 8rad ) g bfeab’ S axaxaxhxb

(438 —ra d/uj"&"{)_ujé/;;lbc @b axaxbxbxbxbh

Sl 79
el 2 128
e dS7 S 343

-“é/;lguﬁa;’.‘,(Z/Z%
256=2x2x2x2Xx2Xx2x2x2 c‘_u‘g;m
256:22@&,{@

032 iy

32 =3%x3=9 ,02°=2x%x2x2=38 w Jle o
=2 ¥ Lyt o586

028 o iyy

8 =8 x 8 = 64

22 = 2x2x2x2x2x2x%x2x2 =25
2.8 rcé/;U;JLé
ouzé._vgwdg_gg/%[ a’b’,a’b’ ,b’a’ b’a’
ab’=a’ xb’

=(axaxa)x(bxb)
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=da

(i)
(i1)
(iii)



=agxaxaxbxb

a’b’ =a’ xb’
=axaxbxbxb
ba’=b"xa’
=bxbxaxaxa
ba* =bxa
=bxbxbxaxa
_ur W 0 sl @ gr DI IS bl B s @B SRS
S ALzt LN U I S bsla Bt 51 a7 1l @B S s

e ey 38

-de,:vg a’b? n a’b’ de’!, ab’ =a’xb*=b*xa’ =b'a’ U,Z{J

_fuﬁf’&_,/d"laéu?id/d/u;uf%muwy sdl:"»

() 72 (i) 432 (iii) 1000 (iv) 16000
2072
TT 72=2%x36=2x2x18
2| 18 =2x2x2x9
319
T 3 =2x2x2x3%x3=23%x32

(P Aiznf ) 72=27x3
432=2%x216=2x2x108=2x2x2x54
=2%x2%2x2x27=2x2x2x2%x3x9
=2x2x2x2x3x3x3

(Fk) 432=2'x3
1000=2x500=2x2x250=2%x2x2x125
=2x2x2x5x25=2x2x2x5x5%5

1000 =2° x 5°
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el ¥

%%%(gt/fc%/’z_/»ug;olﬁ‘uuﬁ
1000=10x100=10x10x10

(10=2x5_6) =(2x5)x(2x5)x(2%5)
= 2x5x2x5x2x5=2x2x2x5%x5x5
1000 =2° x 5°
ce Ly Y
16,000 =16x1000 = (2x 2x 2% 2)x 1000 = 24x 103 (as 16=2x2x2x2) )
=(2x2x2x2)x (2x2x2x5x 5% 5) = 24x 23x53
(Since 1000 =2x2x2x5x5x5)
=(2%2%x2x2x2x 2% 2)x (5x 5% 5)
or,16,000=2" x 5°
_“ér,l:f 07, 1% D5 10, 9 6 )
(1) 0b =1 S
(+1) s = +1 (1) =IxIxIxIx1=1 & Jle s Q)
RIS NS A VIS WA S = W0 o
3= (Dx(EDx (D =Ix()=-1 4
(4= (D x (-Dx(-Dx(-D=IxI=1 gy
?g.)ﬁaizﬁofd/ (=D Jyigar (=D ..«’Kﬁ"é".)ﬁu“lb/’%'c«}u( =D fu}é/éb*f
KD iz
(—10)3 = (-10)x(~10)x(~10) =100 (-10) ==1000 ;)
(=5)4=(=5)x(=5)x (-5)x(-5)=25x25=625
U s
('\ 13.1
e bed$Sionr
(i) 2° (i) 9’ (iii) 112 (iv) 5*
B e i i 2
(i) 6%x6x6%6 (i) rxt (i) bxbxbxb
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(iv) 5x5x7x7x7 (V) 2x2xaxa (Vi) axaxaxcxcxexexd
:éuﬁj%!fmiug}fbgﬂauﬁ;wdggw
(i) 512 (i) 343 (iii) 729 (iv) 3125
(or= L)é%ﬁﬁ;kkdgugz’éévgﬁuﬁdjgﬁ
(i) 4 or3* (i) 5 or3  (iii) 2°or§’
(iv) 100% or2'® (v) 2" or 10
LRSS L 2K S im il e e
(i) 648 (ii) 405 (i) 540 (iv) 3,600
Z£J
(i) 2x10° (i) 72 x2* (i) 2° x5 (iv) 3 x4
(v) 0x10*  (vi) 5" =3 (vii) 2* x3> (viii) 3° x 10*
S
(i 4 (i) (=3)x(=2)’ (iii) (=3)" x (-5)°
(iv) (-2)" x (-10)’
el f e

(i) 2.7x107;1.5x 10 (i) 4x 10" ;3x 10"

-7

-8

(Laws of Exponents) B2 L e 9 133

IS 2 T
2°x 2 =(2x2)x(2x2x2)
=2x2x2x2x2=2°=2""

-§_5J3jﬂzu‘f§d’bu@a§,!+u¢,@ﬁLo"ui‘ 2 12 SE s
(-3)4x (3)3=[(-3) x (-3) x (:3)* (-3)] *[(-3)*(3)*(-3)]
=(=3) X (3) ¥ (3) ¥ (3) X (3) * (3) X (3)

=3
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273 e dsllie s

=(=3)*
-+7J3/;’4@CZJ‘EJU?;’;;'LLJ@QMG’é;ui/{f
a’xa'=(axa)x(axaxaxa) (i

—axaxaxaxaxa=a®
(2+4=6 ‘L('JZJ"lad/uWa}};l‘L(ﬁygmG’:g’J)
EN AL

42 % 42 :42+2

éu{;_"?’( P3P =33

e

H_izt S IS ¢ E oot A TY

(i) 25 X 23 (_1 1)2 « (_1 1)6 _ (_1 I)D
11 3 sz ) ﬂ

(gii; 23 X42 (%)ﬁéj}}rb K‘Lu‘ﬂ_‘gpﬁG‘;“é)L) b2 X bg - bD

i) a@xaxd )

év)) CSZSX(;X‘;H (‘L)ﬁgd[c ) A xet =cH

Vi) (4)% x (4)" ( 0y o _ 0

Uﬂ)’ﬁ’yn J)lmUWéL’abﬁé}’/éuﬂ:ﬂwé/;ﬁéuq

a"’ X a” = a”H'”

!ptﬁl

—;é,,}/ 2% x3?
2;,460'1(_)}7»-‘&3”0'? 3 e sl 2° ?U;ﬂ/’uj‘awf)_‘; Tt[!uz’?uga@z/u.;}v Tg

b Ui e A b L 1332
(Dividing Powers with the Same Base)

(gl SN Y3 T
37 3x3x3x3x3x3x3

37 +34*—4*
3 3x3%x3x%3
=3x3x3=3"=3""
3434 =37 LU
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(373 +3 iyt e LGt 3 a1 37 e d)

5 ;Szzi:ysxsxsxsxs
’ 2
5 5%5

=5x5x5x5=5"=5%"*

56 - 52 — 36—2

LA

L

?‘Laucé}’/zauga éut

614 axaxaxda

a ~a =—
a axa

2 4-2
=axa=a =a

”églzuﬁyd/ua;’;ﬂéf

10°+10° =107 =10°

R

Ut A TU

i 2°+2 79 +75 =70
(ii) 10° =+ 10*
(iii) 9" + 9’ a +a’=d”

. 15 . A3 .
(iv) 20” = 20 1 Ll enlb ;wué" .
V) 713 L g0 =

A ( P = p® = pH

100 90
¢  +cC :CD

“LL a )ﬁé’;‘/;ﬂf'{f‘//?/}bf'la

m—n

al71 +al1 — a

m>nmug;wu~‘( nslmJ

(Taking Power of a Power) VJ:«:’J =y 13.3.3

é)u.lfw)/?‘)“},yﬂ
@)) g0
-t/';«/.@@»c..,;f'? ’)}&/ 23‘Lb.ww/‘g(23)z ‘t,d’

(23)2 =252}

(am Xan :am+n f)[) :23+3

=20=2"2

2019-20



275 e dsllie s

(W (23)2 _ 932 LQU
‘;/J\

(32)4:32x32x32x32 Z/)U"

T,
§\ y — 32+2+2+2
k " . 0
S -(C"—h(/JIL?K4JJ’2‘8J/éJUEﬁ’}) =3

A \

i NN =37
{ 1
| ol (7)) SpEe Ty

\]/ (23 )2 _ 932 _ 96 “iu,’
{ SN\ X

(am)3 — am><3 — a3m

Ul 'nm'mugz;éamé}‘ju‘fﬂqifriﬁ;w

(a”’l )}’l — aﬂ’li’l

Fz S vt f
M (6%) O(ii) (22)"  ain (1) v (57)
¥

() 4 O3l 1 7

5><5><3:75&{."Lo/’_.‘/}c,_3/52u36"£(52)><3 S
Pt Ahe T S FL(S) o
57 x5 x5% =5°=15,625

(5°) >(5Hx3 Lo

3
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—ASUI Al SULE 13.3.4
(Multiplying Powers with the Same Exponents)
UM Ve B w6 L3 1012 S g 2 S 2 %3 T
2P x 3 =(2x2x2)x(3x3x3) . -
=(2x3)x(2x3)x(2x3)
=6x6%6
(446%«/2“%(3/)’2;%5;’/&)0&”)) =6’
= (4xdxdxd)x(3x3x3x3) &K, gy
= (4x3)x(4x3)x(4x3)x (4x3)
=12x12x12x12
=12
3 xa’ :(3x3)x(axa)uf’5;:‘
=(3xa)x(3xa)
=(3xa)’
(3xa=3a:. ) =(3ay
a* xb* =(axaxaxa)x(bxbxbxb) LA
= (axb)x(axb)x(axb)x(axb)
=(axb)!
(axb=ab.s ) =(ab)"*
LL aswlpdfs gt
(e ﬁﬂ/ m Ug) a" xb" = (ab)"

éﬁauﬁnf’“d/»éfdmg a" xb" = (ab)"

() #x2° (i) 2°xb° (i) &= (v) 5*x(=2)°

V) (2) x(-3)*
HAF S W s 80
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el ¥

(i) (2x3)° i) (2a)* (iii)  (~4m)’

(2%3)" =(2x3)x(2x3)x(2x3)x (2% 3)x (2x3) ()
=(2x2x2x2x2)x(3x3x3x3x3)
=2"x3

(2a)* =2ax2ax2ax2a (ii)
=(2x2x2x2Yx(axaxaxa)
=2'xq*

(—4my’ =(—4xm)’ i)
=(—4dxm)x(—=4dxm)x(—4xm)

=(-Yx(—DHx(—DHx(mxmxm)=(- 4)3><(m)3

,*::“7 Susbie e b i 1335

(Dividing Powers with the Same Exponents)

I“éofwgd;d}gjﬂ
24 2x2x2x2 2 2 2 2 2]“
- = 0@ @@= _X_—_X—_X— =
3* 3x3x3x3 3 3 3 3

3

®

a _axaxa a ad _d

a
b bxbxb bxbxb_LZJ (at)
SpE S F e i

e im A8 b sl a U @ b7 = Z :(%]

ALl S )ik a" b = [%)

G 4 +3° gy S+ i) 27+ Gy pegt (v 50 (2)°

4y 3V
(7J (i) (gj 0 &kt o
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5 = isis.s O

(3]“ _ 3" 3x3x3x3
5% 5x5x5x5

(2] e Loy

7 TxTIxTxTx T (i)
?‘gy/ao
Iéiu%c&%;tLyA?
2° = 64
2 =32

2 =16

2 =9

20 =7
G EGis=d § 2 ST
20 =1 Skl T
Q/?k’cé})ﬂf&lﬁ{ﬂm@/a%’a 3° =729 77/7
ehnlS 30 =7y 430 3

(Numbers with exponent zero) 3/ I_ Lo/'l‘ e 9 °

3 -
el ¥ SpEa 1y

3 _3><3><3><3><3_1

5; 3x3x3x3x3

L)AL e S
35 +35 =3575 =3O
3 =1 2

=3

‘-’c‘-/.'/.écI/ 7° ,@géa.,rg
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®

(iv)

—_—= :l
T IxTxT =
=1 L
a+ra=a7=4" @)Lj‘l
., ., @ axaxa
a+a =—= =1 sl

(LL aswlpdfisH) a'=1
e 1S St iU D= I Lo e S5 T e Al
K328 S K6l e F 13.4
(Miscellaneous Examples using the Laws of Exponents)
S TIIA LS o1z s Llie 32T
sl 62 S Ve S sxsxsxs 1006
8x8x8x8=8" o sl b S
§=2x2x2=2’ juzg'_(.,ﬁg?
8 =(2%) =2 x2*x2* x 2° 4J,

(S @y =a” _1)

=2"

ENN (S S PRE S T8

[(2%)* x3°1x5° (v)

2P %22 x5’ (iii) (6°x6%)+6

82 +23
37 5 7-2 5

:35 X35 :35+5 :310

22 x2*x5 =2 4+2x5 (ii)
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=2"x5 =(2x5) =10’

(iii)

@iv)

v)

S nJe

JS

(i)

62+4+63
66 :66—3 :63
63
|:(22)3><36}<56=[26x36]x56
:(2><3)6><56
=(2x3x5)" =30°
8=2x2x2=2°
§2+2' =(2°) +2° CJ_uq
=26723 =2673 =23
_ 12'x9°x4 s e & 2x3*x2°
O gk @ PO @ T
‘Lu’ggzlﬁ
12°x9° x4 (2°x3)'x(3%)’x2?
6°x8 x27  (2x3)x(2°)'x3’

4
(27) x(3)' X3 g8ap23t30
- 23X33X22X3X33 - 23X26X33X33
28+2 ><34+6 210X310
. 23+6><33+3 = 29><36

4 21079 % 31076 — 21 % 34

=2x81=162
2 xa’x5a* =2 xa’ x5xa’
=2 x5xa’ xa* =8x5xa™*
=40a’

2x3*x2°  2x3*x2°  2x2°x3!
9x 42 _32><(22)2 - 32 x92x2
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_2]+5X34 _26><34
C2%x3 0 24x3?
=2"x3"=4x9=36

— 26—4 ><34—2

me&”té&,»t?zi.,,w?_u?ymééé.ﬁwsKaiutu)wupfdu:.,,gw Ly
_ZUﬁﬁJC}UJ{"(ﬁ/JﬁG’
ey
1327
A S e W gE S Sl e d 1
(i) 3*x3*x3* (i) 6" +6" (iii) a' xa’
(iv) 7°x7° W (5) =5 (vi) 2°x5°
(Vi) @ xb° i) (3') (ix) (2% +2")x2°
(x) 8 =8
:éﬂwuﬁﬁt{h«}fvgﬁaui‘st.?/pm;éJ’ 2
. 2°x3% x4 V. 2\
(i) e (i) [(5 ) x54J+57 (iii) 25°=+5
o 3xTx1® 3’ A0 20 L 40
i &, 2°+3°+4
) 21x11° ® 3* %3 (1) A
8 5
(vii)  2°%3°x4° (viii)  (3°+2°)x5°  (ix) 2 xa
a 4° x g®p* 4oa 2
(x) [;jan (xi) yERpET) (xii) (23><2)
:“éu‘fwuﬂng_wwgg_gg_lz -3
(i) 10x10'"=100" (i) 2°>5 (iii) 2°x3* =6
Gv) 3" =(1000)"
A E IS A AL i e S i 4
(i) 108 x 192 (i) 270 (iii) 729 x 64
(iv) 768
EF s
s\ 43 2,8 5 5
0 (2) x 7 (ii) 25><35 ><4l (iii) 3 ><710 %25
{3 %7 10° x¢ 5'x6
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47561 =4x10000+7x1000+5x100+6x10+1

(1=10" 44 10,000=10%,1000=10%,100=10%, 10=10" _ J)

- I

(Decimal Number System) rlbj(j)ﬂ(}&/lﬁv"’ 13.5
:ugalgc_‘&?ﬂ(ﬁ:é WL 47561

G E LSS AL S 18033 104

47561=4x10" +7x10° +5x10> +6x10' +1x10° J_ sy

:ugﬁ/l[;{)jﬁu’ugél’

104278 =1x 100,000+ 0x 10,000 +4x1000+2x100+7x10+8x 1
=1x10° +0x10* +4x10° +2x10* + 7x 10" +8x10°

=1x10° +4x10° +2x10° + 7x10" +8x10°

ngd}d/u{bc; u:/§4&/ﬂ/;’u:;€6:;c5c«é'o)gjc.'.a/uf}u( 1041@{&}7

P 0mF dnffific
cAE Pl % 136

(Expressing Large Numbers in the Standard Form)

Lf",l-‘a L S8 e S QU Tt ity SBYE (Z-Z“—ngﬁ;’)/?alﬁ}/&’d/b.«gg’
Ly WL L A

e Ctry 262 300,000.000,000.000.000.000m Gl JE ke

< 100,000,000,0003L58 Us/- U2 Uk Sl

-<- 5,976,000,000,000,000,000,000,000 kg /L6

ce e AL eI LS gL T g L Ttz e,
a6 f a

-1

=2

-3

ZEJT

**e

Vc«}d:/ol.’:”’ gc«;’.d/lo
59=59x10=5.9x10' A
" : YR
590=5.9%100=5.9x10* (i) 172
5900 =5.9x1000=5.9x10° (i) 5,643
(iii) 56,439
5900 =5.9x10000=5.9x10" @iv) 176,428
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283 e Al d

Fhwl L1 10,0910 SoLL uf‘iui‘ standard formyd/?f}c’ﬁ' L Ut
-t ISt B Sowee SEF b 23S 10 1008 o £ 16U
—e Flerd 5,9055% 5,985=5.985%1,000=5.985%10°
d/.L:,,oJiggsdvg_‘LU:L?%wuﬁﬁJ 59.85%100 or 59.85x10° 5 905 S 24 .9
e U 5 98557 5:985=0.5985x10,000=0.5985x10° ¢, bs1_ e 2 2
e LSt F bl i b T L F S e
—e b e Ll U Sk

&“’uzém@/ 300,000,000,000,000,000,000 m

3.0x100,000,000,000,000,000,000=3.0x10% m
Ut 104- OGS b & P61 40,000,000,000 Tt
40,000,000,000 = 4.0x10" J__
=5.,976,000,000,000,000,000,000,000 kg ___ 7 ¢
¢
~5.976x10* kg
Tt L S vmeze s e o\t S amsse o S E A B2 T
S bl L UrieasI P el bbb

= 86,800,000,000,000,000,000,000,000 kg )
~ 8.68x10% kg JEUA

e olie wjuhgﬁjgfwélﬁ.?j&l/@é:/gﬂf Kc«}d/ 103 4~ u]»/?;l
1.4335x10™ m 1.433,500,000,000 m b2 b6 o Sl

1.439x10” m [ 1,439,000,000,000 m ke 68l 29l S

1.496x10"'m (149, 600,000,000 m e 68 L sl e
?%Q}‘fvc)!?_uﬁu#sui}f@émjg

‘ggu:yd/&”}g’ﬁ’gj:}g/p 13Jlf'ﬁ
(i) 5985.3 (ii) 65,950

(iii) 3,430,000  (iv) 70,040,000,000
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(i) 5985.3 =5.9853x1000 = 5.9853x10’
(i) 65,950 =6.595 x 10,000 = 6.595x10"
(iii) 3,430,000 = 3.43x1,000,000 = 3.43x10°

S Usin e VL S gt B s it s S e S

uf/b)/u’!ﬂ :‘ggﬂui’f"/ikﬁ@g/wl@/uﬁ 70,040,000,000 Lij— < Gnd" Lm,}d/ 10?/2_&&7 le
a}d/louﬁﬁd/'l,v-cz_l 1;iﬁd/urmgrm..€g/ufgcup-ug%ul./?;/dﬂ(qlg
_‘44—1=3c;«§d/1o‘)/’“d/.l,v”&u’w!ugcm/gqtguf/géﬁépwluﬁs%ss.La11—1=1o

13.3&5‘

_.'&gu':ﬁéﬂ&@;wkfjg/ﬂ -1
279404, 3006194, 2806196, 120719, 20068
ZEebred Ll el Bt o 2
(a) 8 x10* + 6 x10° + 0x10* +4x10'+ 5x10°
(b) 4 x10° + 5x10° + 3x10% +2x10°
(c) 3 x10* + 7x10” + 5x10°
(d) 9 x10° +2x10* + 3x10'
-“ggufyd/?ﬂijwld)?/ﬂ -3
(i) 5,00,00,000 (ii)70,00,000 (iii)3,18,65,00,000
(iv)3,90,878  (v)39087.8 (vi)3908.78
A F el T bl s -4
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